[image: image1.jpg]TATUKY

K, CAOMOLLfl

=

.
st

i . g
= 401 Ip

o,

Lo

s

o





[image: image2.jpg]_ : ¥‘¢/¢¢d,’ 7
@ ﬁ'&%/:;m«/ VZZ'K%//W %WWL”%‘
e = -
-4 =3 (M4 &W -5 K=t

O (747. 5 +fn5)ah 1053 & —iF #47) -
(47 (8- %) 5s/ G- 5)) 0 (8- Fr 170 r053)  2s2
~ZE s L _ e

R féf@,j[//f} ,mj

£ AGE = 1P0~( 3T+ 707)= £0°

ok Rl
Fer b0 Z . 27K

L SOC =2 60°=120" b.° oo 10 =4 F
L AC ) //0"-—;&0"__ 20°
) - 140° - 220", L 2EL 4y W
chf f ol S B B, (- T e Y
£ ) ,jp _40
2 L0 - ﬂ%’gzéﬂ-»ﬁw e ﬂ%
: Lt S0
' A 707
@ 4‘// (3 .

ﬁ%‘//%‘ﬁ -é/%/zo |
(T+0)*= 1 +(y-4)*~4 + /=0, [Z+/) “ely-d) =

i
L Y o
-4 - /5/7[,74,) ,,a:'J/zv/), g =—dz

O £k mRemd =0

Q>0 Q) /p&v*?z) Y ylm-3)=m >0
X ;750 :C'{ g # . /74 7*7(”/ o 73
X% =
4 3 %2 ° //pz m)) *- 2(-m=3) =(m-7)"+5 >
@ r =t g
;?Z /,+;+Z
A s /0”5’) g =
/ . =g % 42 5 A== 2





[image: image3.jpg]KourpoJibHI 3aBAaHHY 3 MaTeMaTuky
Biygnensd KoM orepaux ga}f;i} CAOHOLLL [T

I piBens

st

R R e e
U, OS8R HAKITEL PIBIAHIA

.





[image: image4.jpg]Ceorolied, Lrppuere - ;
. T T B
@ / f*ﬁ’ua/?i ? 3/%4/’5’ ) Joae - MARLY 40T
=(W s ot ) Ve-alevasa VrBl(e-a/F) =27 =2

<7 x4/ Mf'%/?/p—:"
[ 2% ). % [y %j +/0 =0 ;
/ﬂf ’/g ”/v‘/&yﬁ)’) —g710 =0, /,7['_/)4/7‘/04/,:5/'&:@‘

30 cos/e @{3/5) 3L L= A0 - 005 (90 ) = M% i /ir{z/
E ’ | sernd
g oA

/9/ g/wmé

@ B2 WW{,%/% Jllulid ;/MWf PAi

g (o2 - ma% /@
—727—07/756 + 00 _‘ - mp Wﬁ’/”@"/ a%nwzm Y52 0045/

0 — P e B
0P gy OO 300 7

/00 700

700 (/m— )7& + (100 /)//*f/% /Z’Dﬁé’ﬁ?a
/0000 - /00/; + (00p + 500 ) e
/%{/9 a0 C? /7/:'%5-¢() /j’ M%
fa =30
@ /0”Z L] £ el
1+ 17/ { 7-jx) £ 2T
—f/ LA , oy 2T/ A-da) < 1))
4+ /%]
afa) <9 ja1 < A A ‘
-4 /ot 2 = sk . R TET Bl HNGE
- = z 7 % VEs

oos Tt =% 4 +8
sk = (T4 7T
S e e

T 7
/ = 2
ji =1, £/ =, %%,@:/ //x j;éﬂé an=4 n=7 [ 2





[image: image5.jpg]7, =2

v, =/x-1)1/%-%
= Iy ey
= J - 4 4 /'%'5/
é/z: —;4%7‘%/:4; %j@zﬁ

A aciy zef
@ >2 plbu-te 1L8E

ot oLt





[image: image6.jpg]HLEHIBKUX |

PO
i \

KonrpoJibHai 3
Bijuin

II1 piBens





[image: image7.jpg]/f kel K4 2,
At ff w07

)
(” 5'%4[}//5/%/5/: Z‘f‘f’ %_”,% gf W o
e S s 5= P ~ i

5 |
At =0/ %ff/fw

£ -lis - itt)

5 L
e Aok, LGB O 3
5 : 4 /M// /; M&,(éa

® %
0
g0 ., .
o %A ) ABC ~g BB
= . A= T =% M= 1F-%
/§

y ST Ll -y, BI=2%=
o ;@—Z: Yl Y /:%%—jféz

fg:o/%ﬂ’_////l c Bic i ;
5’/:521/~-§9c/. Z- 7 - S /)
o 74 ¥ £

§=(ay-4a)x
/3 9 ek 1A Cle

L=9, y=r4

D G464 . fot's lply
.—(g;z//cz b1 /9°) + /%Mﬁ iz i f////é/ééjré;;/fjf%%éf
- /f@(ﬂ ;//g()f/j) 1 41 z///fﬂ‘i/ﬂ/f , gf/é;é/fz;//iﬂﬁ%@ﬂﬂ
:%Z//W/c,¢ éw% : %74‘/’%////42 G445 = |
,: é}/%‘d/y/ﬁ, +éﬁ/+yfﬁ/:é”'# - g v
O jeyVEE-£  E4s0

@ =t Wy =V , w4020

wrhe L _ 12 , _
: =0, (a0, Gt po Se Ao

%2‘- X/:y v/C'-‘—'_fj" 7'[/ :"‘4 40/ ZAX/:J
e s (559), (55-4)

L f5id Y //j;ﬁ/ /'j; 4] =ir b





[image: image8.jpg]/raees ¥ =(arr)*
/4R I
acor % =a“rie
o e - fora)) <

[&%7 a=0
£ rer g
B 5o SIS SRS T T
X = + aneeosfary) + /ity HEL
. : ard>/ a>-/
bl Erde=7 b g2 7
e
ol (l =
# lTek
/Zl e/-3,-1/ ~ ,
= +prtlldlar) + LA neZ

{[\M/* wy V(-1 )

Tey





